Bbibop aHcambnsa curHanos.
HekorepeHTHbIN crnyyan



Mopenb pagmnocurHana

s, (1,0, )=Re [Sk (,9,) exp(i2nfot)}

.Sk (¢,9,) :.Sk (¢)exp(io, )



KBagpaT paccTtoaHua mexay
KOMIMITEKCHBbIMU OrmdbatoLLMmMm

72 (Sk(p 9.Sl(p) — 4E[1 — Re(pkl ((P))]

S .S A .
pkl((P):( k;Elm)zzEjSk(ta(Pk)Sl (ta(Pz)dt
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KoMnmneKcHbIN KO3MULINEHT
Koppenauuu

pu(@)=p,exp|i(p, —@,)]

(Se8) 1% . | |
Pu = T :E!Sk(t)‘gz (t)dt:|pkl|exp(l(pkl)9

20e P, = arg(pkl)



Makcnmmnszaumna ksagparta
PACCTOAHUA

d’ (Sk(p >.Sz<p) - 4E[1 ~lpulcos (@, + 0, — ¢ )}

S .S
sz:( ;El)zo k #1




[IpnHATME peLleHns npu
HekorepeHTHOM npueme

y(t) =Re| Y (t)exp(i2nfyt)|

(5, Y) = 22 Rl (o).

T o
z, = jY(r)S,’j(t)dt k=12.. .M.
0
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